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#1 fEHERE (kg/H - §A)
sy 20 T %
FURIX XPHIX PRI XfHIX FURIX XPHIX
DM 7.57 7.22 8.23 8. 20 7.79 7.25
TDN 6.01 5.59 6. 80 6.73 6. 43 5.99
CcCP 1.24 1.16 1.24 1.23 0.99 0.92
#2 HWAERE (ke)
KE(ke)
900
FBRIX RIFRTX oo |
BRAGHE  356.0 £ 47.1 367.8 =+ 25.1 00 L‘./:d{‘
BIEAAR  422.0 =+ 52.4 425.0 =+ 25.8
i FHIE  667.3 £ 80.5 604.0 =+ 46.9 600 /
#\Tﬁ# 776.7 =+ 83.7 725.5 =+ 60.4 500
AT B 1.08 + 0.10 0.94 =+ 0.10 400 /
Do B O# 116 £ 0.14 097 £ 0.12 200
f\ﬁ;q%% 071 f O 23 O 67 f O 26 121314151617 18 1920 21 22 2324 2526 B
EHE 0.99 =+ 0.10 0. 84 0.13
VE P R A K1 EHEREOHR
3 B AR
— FRERX X HE X
HAEE
AN (kg) 549.5 =+ 43_3* 466.1 =+ 30.9
n-— *Jﬁ%ﬁ (cm?) 55.0 =+ 13.0 42.0 =+ 5.2
AN=R (cm) 8.27 =+ 1.31 6.58 =+ 0.38
K FHERAE  (cm) 3.07 =+ 0.42 2.70 =+ 0.14
W;’;”’%ﬁﬁ@ %) 72.5 _+ 2.22 71.0 == 0.87
Aéél\lxls No. 5.0 =+ 1.00 3.8 =+ 0.96
PR 22 eS8 8% 3.7 =+ 0.58 3.3 =+ 0.50
BCS No. 4.3 =+ 1.53 3.8 =+ 0.50
JER 3.3 = 0.58 3.5 =+ 1.00
A8 2 3.3 =+ 0.58 3.5 =+ 1.00
LED 3.7 = 0.58 3.3 =+ 0.50
= 3.7 =+ 0.58 3.3 =+ 0.50
L&D - =%k 3.7 = 0.58 3.3 =+ 0.50
BFS No. 3.0 =+ 0.00 3.0 = 0.00
SR &E 5.0 =+ 0.00 5.0 = 0.00
JCIN & B AR 5.0+ 0.00 5.0 =+ 0.
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9.2 + 1.4 56.1 =+ 3.1 53.8 =+ 0.1 52.2 =+ 3.1
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